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Quiz Date: 4th August 2020 
 
Directions (1-5): Study the following information carefully and answer the questions given 
below. 
Ten persons are going to attend the party on two different dates 20th and 27th of five different 
months July, August, September, October, and November of the same year. Also, each of them 
is of different weight. Only four persons attend the party in between G and C. H attend the 
party immediately before C and is third lightest person. D is just heavier than G. The one who 
is second heaviest attend the party immediately before the one who is the lightest. Only four 
persons are lighter than B. K attend the party on an even date of a month having 30 days. 
Only three persons attend party in between K and L who is the heaviest person. G goes 
immediately before F but not in the same month also G is lighter than F. C is heavier than K 
but lighter than F. A is lighter than H and K. A is not the lightest. The lightest person attends 
the party immediately before the one who is the heaviest. B does not attend the party on an 
odd date.  E is not the second heaviest. A neither attend the party before H nor in a month 
having 30 days. C is lighter than D.   
 
Q1. Who among the following person is going to the party on 20th October? 
(a) K 
(b) F 
(c) A 
(d) C 
(e) None of these 
 
Q2. How many persons are heavier than B? 
(a) Two 
(b) Three 
(c) Five 
(d) More than five 
(e) None 
 
Q3. H is going for the party on which date? 
(a) 20th August 
(b) 27th September 
(c) 20th October 
(d) 27th July 
(e) None of these 
 
Q4. Who among the following goes immediate before G? 
(a) E 
(b) Third lightest person 
(c) K 
(d) Fourth heaviest person 
(e) None of these 
 
Q5. Which of the following statement is true about D? 
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(a) D is third heaviest person 
(b) D goes on 27th October 
(c) Only one person is going for party after D 
(d) Both (a) and (c) 
(e) None is true 
 
Directions (6-10): In each of the questions below are given some statements followed by 
some Conclusions. You have to take the given statements to be true even, if they seem to be 
at variance from commonly known facts. Read all the conclusions and then decide which of 
the given conclusions logically follows from the given statements disregarding commonly 
known facts.  
(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 
 
Q6. Statements: 
Some Pen are Green  
Only green are Potato 
Only a few Green are mango 
Conclusions: 
I: All green can be mango 
II: Some potato is pen is a possibility 
 
Q7. Statements: 
All North are south 
Only East is west 
No East is north 
Conclusions: 
I: Some South is west 
II: Some south can be east 
 
Q8. Statements: 
Only a few Hindi are Physics  
Some Physics are Science 
All Physics is Mathematics 
Conclusions: 
I: All mathematics is Hindi is a possibility 
II: Some Science is Mathematics 
 
Q9. Statements: 
Some Apple are Orange 
All Pink is Orange 
No Orange is Brown 
Conclusions: 
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I: No pink is brown 
II: Some pink are apple 
 
Q10. Statements: 
All Red is blue 
No blue is Green  
Only a few green is white 
Conclusions: 
I: All Red can never be Green  
II: Some white can be blue  
 
Directions (11-13): Study the information carefully and answer the questions given below. 
Six employees A, B, C, D, E and F work in a bank at different post viz. clerk, PO, AM, MG, 
DGM and GM. All the designations given are to be considered in a given order (as GM is 
considered as Senior-most and Clerk is considered as the Junior-most).  Each of them likes 
different colours viz. Grey, Black, Blue, Green, White and Red.   
Only three persons are Senior than C, who likes Green. F neither Po nor MG. The one who 
likes Blue colour is just senior than F.  E is senior than the one who likes pink colour and 
junior than the one who likes grey colour. The one who likes white colour is senior than the 
one who likes Black colour and junior than D. E is junior than D. B and F does not like Grey 
colour. E neither MG nor DGM. The one who likes black colour is not MG. 
 
Q11. Who among the following is PO? 
(a) F 
(b) D 
(c) A 
(d) B 
(e) None of these 
 
Q12. How many persons are junior than the B? 
(a) None  
(b) Two 
(c) Three 
(d) more than three 
(e) One 
 
Q13. Who among the following person likes Grey colour? 
(a) D 
(b) The one who is MG 
(c) C 
(d) The one who is clerk 
(e) None of these 
 
Q14. Which of the following elements should come in a place of ‘?’   
 EH20   JM15   OR10  ? 
(a) TV11 
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(b) SU14 
(c) TW5 
(d) NL8 
(e) TX5 
 
Q15. Dinesh ranked 38th from the bottom and 25th from the top among those who passed 
an exam. 24 boys did not participate in the exam and two failed in it. How many boys were 
there in the class? 
(a) 86 
(b) 65 
(c) 72 
(d) 88 
(e) 95 

 
 

Solutions 
 
Solutions (1-5): 
Sol. 

 
S1. Ans.(d) 
S2. Ans.(c) 
S3. Ans.(b) 
S4. Ans.(e) 
S5. Ans.(a) 
 
Solutions (6-10): 
S6.Ans(d) 

Sol.  
S7.Ans(b) 
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Sol.  
 
S8.Ans(e) 

Sol.  
 
S9.Ans(a) 

Sol.  
S10.Ans(e) 

Sol.  
 
Solutions (11-13): 
Sol.  

Post  Person  Colour  

GM D Blue 

DGM F White 

MG A Grey 

AM C Green 

PO E Black 

Clerk  B Pink 
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S11.Ans(e) 
S12.Ans(a) 
S13.Ans(b) 
 
S14. Ans.(c) 
 
S15. Ans(d) 
Number of boys who passed = (38 + 25 - 1) = 62 
∴ Total number of boys in the class = (62 + 24 + 2) = 88 
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